(2) 5/16-18 U-BOLTS
(2) 5/16 SPLIT LOCK WASHERS
(2) 5/16 HEX NUTS CLAMP SADDLE

CAST 356 ALUMINUM

RIGID CAMERA ARM
CAST 356 ALUMINUM

SEDCO BRACKET

(2) 3/8 BOLT
(2) 3/8 FLAT WASHER
(2) 3/8 LOCK WASHER

CAMERA BRACKET

2-13 BOLT
2 FLAT WASHER
2 SPLIT LOCK WASHER

,\,.\,.\
~

(2) 3/8-16 BOLT (2) 3/8-16 THREAD ENDS
(2) 3/8 FLAT WASHER (2) 3/8 FLAT WASHERS

(2) 3/8 SPLIT LOCK WASHER (2) 3/8 SPLIT LOCK WASHERS
(2) 3/8 HEX NUTS
(2) CABLE STOPS

CABLE LFNGTH MAST :'A\RI\I/I\ DIA. PART NUMBER
66 3"-7
20" /- 117 $S-SBC46-SEDCO-CO
120 12"-15 T
144" 16" - 20" CABLE LENGTH —
165" 20" - 22"
THE INFORMATION CONTAINED N —— .
THIS DRAWING IS THE SOLE L Y
PROPERTY OF SKYBRACKET. ANY “‘I
SOOI THE WRITTEN, PERMISSION. MAST AN MOUNTING B0 RPWARE
OF SKYBRACKET IS PROHIBITED. TITLE
- MS SEDCO
NOTES: APPROVALS BY DATE (CABLE CLAMP)
1. STAINLESS STEEL HARDWARE. bRawn | TRC | 3/18/2021 (COLORADO)
2. AVAILABLE WITH BAND STYLE CLAMP. SALES S
ENGINEERING A SS-SBCéé-SEDCO-CO Al
DO NOT SCALE DRAWING SCALE: NTSlCAD FILE: S5-SBC66-SEDCO-CO |SHEET 10F1




	Sheet1
	Drawing View4


